3rd Class Word Problems
1. I have the same number of hundreds as 675. I have the same number of tens as 734. I have no units. I am ________.
2. John jumped 132m in the high jump. Brenda jumped 144cm and Shane jumped 123cm. How many cm did they jump altogether?
3. Lily is baking a cake. The cake takes 236 minutes to bake. If it has already been baking for 162 minutes, how long more has it to bake? _______hrs__________mins
4. There were 279 people on a train travelling from Dublin to Cork. At Portlaoise, 138 people got off and 119 got on. How many people were on the train then?
5. 975 people went to the zoo on Monday. 320 less than that went on Tuesday. How many went on Tuesday?
6. Liz had 48c. She spent one quarter of it buying an apple. The apple cost __________c
7. A lollipop costs 11c. Noreen spends one eighth of her money on it. How much money had she at first?
8. Gillian had €1.55 change from €5 when she bought a hairband. The hairband cost ________________.
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